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Wy 2 x CRHHIL, ToickOFEMzH-T 8 &, REFOXZ kD72 T 0,

D x=—-3D& % y=5

x=—30DLZTy=5THI0b,

HFlERE —3x5=—15

15
y=——
x
@ x=-3DL T y=—4
x=—3DLZXy=—4ThHbHHIbL,
HBIEBIE —3x(—4)=12
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y=—
x
B x=4DL & y=-2
Xx=4 DL Ey==2ThHb0b,
HeHlE#IE 4x(—=2)=-38
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@ x=7T0L % y=7
x=TDLEy=TThHd0b,
FEBIERIE 7X7=49
49
y=—
x

® x=30DL & y=17

x=3DLEy=17TTHoH b,

HeflESUE 3x17=51
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© x=40t % y=-13
x=4DLEy=—13ThHoH0 b,
HeBlERi: 4x(—13)=-52
52
y=——
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@D x=—-3D& % y=11
x=—-30LZy=11ThHo00b,
efilERx  —3x11=-33
33

x=—20& % y=-13

Xx=—20D¢Ey=—13TH b1 b,

eplER I —2x(—13)=26




